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Diviseurs et multiples communs 
����������11    

1��� ��  �×����	
��� : 183 =− yx. 
    ����� �� ��� )1,3( �	��� 	���. 
2����� ���� ��� ��� ���	
���  !" ���� ��# �� : 

52 =− xy 
3���$� ����%� �� �� ���	��� ���%�� ����&�� ��  : 
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(8k+3,3k+1) (11,4) (-5,-2);(3,1);(11,4);(19,7) 
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1�����'� (#)$� �(�*��� +,	��� ��� ���	���  : 

    2189 - 1393 - 398. 
2��� ��  �×����	
��� : 39813932189 =+ yx 

     �� ��� �����  ),3( α−  �	��� 	���    .�� -α ���  
    /0��
� 1�2� 3��&. 
3����� ��# �� ���	
��� ��#	,��  ���� ���� ��� ���: 

  � (  11<x � 18<y 

  �(  03962 <−+ yx 

(7k-3,-11k+5) (-10,16);(-3,5);(4,-6) (4,-6);(11,-17) 

  

����������33  
1��� ��  �×����	
���  (E): 05185 =− yx  
2��� ��# �� 4����	
��� 4� (E)��� �5	06�� 4 7	),( yx 

    ���� ����� :4≤− yx 
3��� �� 
�#2�� ����$� ����%� ���	
��� ������	��� ���: 

   �(  8675185 =− yx  

  �(  8675185 =+ yx 

(3k,5k) (-6,-10);(-3,-5);(0,0);(3,5);(6,10) 

(3k,5k-17) k≥4 (9,2);(6,7);(3,12);(0,17) 

  

����������44  
1����	
��� ����&�� ����$� ����%� �� �� ���	���  : 

[I] . . . )1(76)2(95 +=− yx  
2����� ��# �� ���	
���  [I]��� ��  7	�5	06),( βα�����  
    ���� :[ ]52 β≡α. 

3���$� ����%� �� �� �� ��
�#2����	��� ���%�� �  : 
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(4k+2,5k-1) (20k′+2,25k′-1);(20k′-2,25k′-6) (14,14);(10,9);(6,4) 

  

����������55    BÕiÃªB∏I  

1�#6�  ����
�� �� 7993 - 170	��0�# 	��� �	���� . 

2�     ����%��� �� (#�
0 �
2 ���	
��� (E)   ����4�%��� 7�!  

    x � y.�� : 143170993 =− yx 

 � (�	��� ���� ���),( 00 yx-� ���	
�� (E) .��#: 
    600 =+ yx . 
� ( �� ���

2 ���	
��� (E). 
3��� ��
�#2 ��� (8&� �% a��,9 �9	# ��)� .��#  

     ��
�� )1( −a  ����
�� �� �) :��1986 � 340�"  
     14 � 3001��(��� :�� . 

(1,5) (170k+1,993k+5) 2001 

  

����������66     
1� ��� ����&�� ����$� x .��#: [ ]9197 −≡x 
2� ����$� ����%� �� ;�0�,� ���	
��� ���� ����&��: 

[I] . . . 1997 −=− yx 
3����	
��� ���� ��# ��  [I] ���� ���� ��� ���: 

           [ ]yx 0≡   ) =�y  ��
�� +,��x(  
4� (#�
0   �
�#2�� ��
��  n  1�)� =!�� 52α   �
�� +	�0 ��  
    =! ?	44,$� 7-144�)��  31β=! �44
�� +	44�0 �44�  

?	,$�     9 . ���α � β 1�)� +6 n=(*
�� +	�0�� ��  . 

9k+5 (9k+5,7k+6) (-4,-1) n=138 , β= 6 , α=5 

  

����������77    

���	
��� ����&�� ����$� ����%� �� (#�
0 : 
[I] . . . 119137 =+ yx 

1�  0� 7#6�   /  ��5	06�� 70	) �!@),( yx A�   ���	
��� [I] �B�  
    y ��
�� C�	D� 7.  ���	
��� ���� E��% ;�0�,�[I] . 

2�     ��
�#2�� ����$� ��� α   - β   � γ ) ����
� (�F( .�� : 
         

)7()8()6(

32311 γα=ββ+αγ 
(-13k+17,7k) γ=5 , β=7 , α= 4 
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1�����
�� �� ��#  27 � 22	��� �	���� 	��0�# . 
  �   -?���9@ ����(��� �	�
�,	#    4� �������  �����4& 

    a � b�	����  :12227 =+ ba 
2��� ��  �×� ���	
���: 15330405 =− yx 
3� ;�0�,�����&�� ����$� ����%� �� �� ���	��� ���%��   : 
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(9,-11) (22k+9,27k+11) 594k′+243 
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�����	
��� ����&�� ����$� ����%� �� (#�
0: 

[I]  . . .120102011 −=′−′ yx  
[II] . . . 320102011 =− yx  

1�	��0�# 	��� �	���� ��
#	��� ���
�#2 ����� �� 7#6�  . 
2� ���	
��� 	&	� A� ��� [I]. 
    
��� 	&	� A� ;�0�,� ���	[II]. 
3�����&�� ����$� ����%� �� ��   ���	
���[II]. 
4��)�� ),( yx  ���	
��� ����[II]����$� ����%� ��  

   ��
�#2��   � d (#)$� �(�*��� +,	���4� ),( yx. 
  � ��
�� �0)���� +���� �" 	� d� 
  �  7	�5	06�� ��� ),( yx  ���	
��� ����  [II]  ��)� .��#  

     x � y 	��0�# 	��� ������ (�F. 

(-1,-1) (3,3) (2010k+3,2011k+3) 3 ,1 (6030l+3,6033l+3) 

  

����������1010      

���	
��� ��
�#2�� ����$� ����%� �� (#�
0: 
[I] . . . 374 =β−α 

1�     ���	
���  !�� 	&	� A� ���   �)�4�� ),( 00 βα  .4��   
   70 0 <α<	����� E��% ;�0�,� +6 . 
2� ���	��� ���	
��� ���� �#, 	�� ;�0�,�: 

[II] . . . 10211968 =− yx 
     .��x � y�	�
�#2 ����� . 
3��)��  d  ����
�� (#)$� �(�*��� +,	��� ���
�#2��x � y  

      �	
��� ���� ��[II] . ��
�� �0)���� +���� �" 	�dG 
4�7	�5	06�� �) ��� ),( βα ���	
��� ���� [I].��#  

    ��)�   PGCD ( α ; β ) = 1. 
(6,3) (7k+6,4k+3) k≥0 (7k′+12,4k′+6) k′≥-1 

6,3;2;1 (21l+13;12l+7);(21l+20,12l+11) l≥0 

����������1111  BÕiÃªB∏I 
1�� ��
�� ���  �
�#2�1995����� ����� H��% :�@ . 

2�   7	�5	06�� �) ��� ),( yx    � ��
�#2�� ����$� �� �4��� 
     ����  :19957 =+ yx � 9PGCD ( x ; y ) = 1. 

(1862,19);(1729,38);(1463,76);(931,152);(532,209);(266,247) 
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 x � y �	�
�#2 ����� Id��� 	���,	9 #)$� �(�*4 � ( m 

  (8&$� �(�*��� 	��J�	D� .     7	4�5	06�� �) ���),( yx 
���	��� 7�	��� �� ��	� �) ��: 
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(24,15);(120,3);(15,24);(3,120) (9,18);(3,12);(2,5);(1,10) 

(27,3);(3,27) (18,27);(36,9);(54,18) 
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1� �( �
�#2�� ��
�� ��� 1996����� ����� H��% :�@ . 

   �( ��
�� +,��9 ����%� ��� 1996. 
 +,��9 H��% �� ��#       1996 �" 3)998(8 . 

�   (        +,�� 	��0� �4) E#(� =!�� ���
�#2�� ����
�� �%��  

 ��
��       1996.  
2�   7	�5	06�� �) ��� ),( yx      4��� �4�
�#2�� ����$� ��� 

����: 1996492 22 =+ dm  .�� - m    C�	4D��� �" 
  � (8&$� �(�*���  4x   � y    � d      �(�4*��� +,	44��� �" 

 (#)$�� 4x � y   .���A� :499���� ��� . 

1996,998,499,4,2,1 2 ; 1 (30,2);(10,6);(6,10);(2,30) 

  

����������1414 
      	�# ��(�	,��� ��0� K(�8& ���	�16  0&� 	#)�(    :�@ ��J3 

C	0&� :   7
�� ����%�20   ��)   C04&(a   �4���%�� 
   7
�� L(��15   ��)  C0&(b      +4�� �6�	6�� ����%��� 	��

   	5�* E���)  C0&(c .         ��	4�%M� N4�#��� �� 74��� �!@
 �" O������285C0& �) �� 1	)(�� ��� 1,�� - �� . 

1 ; 3 ; 12 
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